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B 48 =-64+3%x7 =29



6. o AR 7P AR AE leAL,
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118 -5x3+4%x3=13

@ 118-5x(3+4x3)=13
@ 118-5%x(3+4)x3 =13
® 118-5x3+(4x3)=13
@ (118-5)x (3 +4)x3 =13

® (118 -5)x3+4x3=13



10. @+@=Dx@+ L g o, =2 A

{(7T%6)*13% (5x2)}




11.

ol Ao A g 7Rl 500 ¥ oh= otol AT TS EIste] 5 7o
2400 Yo 2 wufstar, 2 7o 800 ¥ 5= HALE §Helshe] 4 o
1400 Yo 2 wufstctyr guct oto]Aa g 7 et B 5 AE
At gkl §he o Antly7}?

. [e)
YR 4



Ko] 4

+5) X6 =247

715 — (5% (4 + 12) -




e S +,-,5.X &

=l

7 ]7[ ]7=6

B x, = @ +, - ® x,+

@+, -



